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. Economists often focus on average behavior because it is easier to bredict. ’

. Monetary policy is a supply-side policy because it is used to change money supply. -

. A decline in the interest rate, other things constant, shifts the investment function upward.

. A firm facing a kinked demand curve usually expects that if it changes its pl ice in either direction, its
total revenue will decrease. "

5. If a monopolist engages in perfect price discrimination, the demand curve also becomes the marginal
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revenue curve.

6. The existence of discouraged worker problem underestirnates the actual rate of unemployment.

7. If output exceeds planned aggregate spending, the result is unplanned inventoty increases.

8. If the expected price level exceeds the actual price level, then real GDP may fall below potential
output. T - '

9. Economies of scale can be caused by the use of larger, more spemallzed machines.

10. Monopolists have the highest market power that allows them to charge any price they like.
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1. If the product derived from the last dollar spent on labor is more than the product derived from the last
dollar spent on capital, then the firm

(a) is minimizing costs.

(b) should use more labor and less capital to minimize costs.

(c) should use less labor and more capital to minimize costs.

(d) should increase the prlce paid to labor and decrcase the pnce pand to capltal e

2. Which of the following statement is true?

(a) Since most people want a BMW sports car, their demand for it is high.
(b) If price increases, the demand curve shifts to the right.

(c) The price of BMW sports car decreases, its quantity demanded increases.
(d) If the demand curve shifts, the supply curve will shift as well.

v

3. The owner of a fried chicken stand has estimated that if he lowers the price of hot dogs from $35 to
$30, he will increase sales from 400 to 500 fried chickens per day. The ‘demand for fried chicken is
(a) elastic. (b) inelastic (c) unitary elastic. -~~~ (d) perfectly elastic.
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4. Suppose the current equilibrium price of movie ticket is $250. If the government decides the price of
movie ticket cannot rise above $200, the result of this policy would be

(a) ashift of demand on the right.

(b) at the $200 price, the quantity sold would be greater than the quantity bought

(c) a shortage of movie ticket at the price of $200.

(d) a decrease in consumer surplus.

5. “[ feel sick. I shouldn’t have had that last pizza.” Which statement best describes it?
(a) The total utility from having ice cream is negative. :

(b) The marginal utility of the last ice cream was negative.

(c) The marginal utility of the last ice cream was zero.

(d) The total utility from having ice cream is zero.

6. You rent a DVD of a movie. The opportunity cost of watching this DVD for thé second time
(a) cannot be calculated.

(b) is zero.

(c) is one-half the rent of the DVD, since it is the second time you’ve watched it.

(e) is the value of the alternative use of the time you spend watching the DVD..

7. Which of the following shows the concept of “more is better”?
(a) Consumers moving along an indifference curve. .

(b) An increase in income shifts the budget line to the right.

(c) Higher indifference curves yield higher utility.

(d) Budget lines closer to the origin represent lower income

8. Assume there’s no leakage from the banking system and that all commercial banks are loaned up. The
required reserve ratio is 20%. If the central bank sells $50 million worth of government bonds from the
public, the change in the money supply is , _ _

(a) ~$200 million. (b) —$250 million. (c) $200 million. (d) $250 million.

9. Which of the following is not counted in the labor force?

(a) Ford, who was a college teacher but is a taxi driver now. ,

(b) Julia, who is looking for an opportunity to be an actress but could not get any.
(c¢) Richard, who takes 3-weeks off from work for a vacation.

(d) Gibson, agel3, is a newspaper delivery boy

10. In a private economy, suppose the saving function is S=—100+0.1 Y, and investment I = 200, then

which of the following is not true?
(a) Equilibrium income is 3000.
(b) The autonomous consumption is 100.
(c) Consumption increases 180 as income increases 200.
(d) Saving decreases 10 as income increases 100.
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11. Which of the following is NOT a probliem associated with GDP as a measure of social welfare?
(a) Tt does not count the production of intermediate goods.

(b) It excludes the value of leisure time

(c) It excludes many non-market activities

(d) It says nothing about the distribution of income. r

12. The seafood source quotes the price of fish at $100 a pound and the price of lobster at $120 per
pound. This is an example of money serving as
(a) a unit of account. '
(b) a store of value.
(¢) a medium of exchange.
(d) All of the above..

13. Which of the following statement about “stagflation” is not true?
(a) Stagflation occurs when the aggregate demand curve shifts to the left.
(b) Stagflation occurs when there is an adverse supply shock.

(c) Stagflation cannot be cured by demand-side policy.

(d) Both (b) and (c).

14. The government increases spending while the central bank takes accommodation monetary policy so
that the interest rate remains unchanged. In this situation, there will be

(a) complete crowding-out.

(b) substantial, but less than complete, crowding-out.

(c) slight crowding-out.

(d) no crowding-out.

15. The House of Pizza has total fixed costs of $25000, average variable cost is $100 and average total
cost is $150. The House of Pizza is producing units of pizza. A A ZE )
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